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Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

1. Define Sampling distribution.

Fam LUTeUed GUenTuwIm).
2. Write any two application of ¢-distribution.
t-ureuadler gCaeIb @)([H LWGTLT(HSEMET 6T(LpSIs.
3. Define F- distribution.
F-ugaué cuenywm.

4. Differentiate between estimator and estimate.
wEHUIH wHmD WHS G Qeupern CaunOSHS.
5. Define unbiasedness.

Yerpwibm Semenoudenar euen Fumi&&Ee|Lb.

6. Define Standard error.

S benp — euenyuim.

7. What do you mean by testing of hypothesis?
T Camer Gargenar umd Halli oidleu@sener?



10.

11.

12.

13.

Define interval estimation.
@ Geuafl wHUSTEH cuamTwm.

What is y* - test of goodness of fit?

asalisas  Camgaaried QuUTmSSSS6m
GTGITMITGL GTEITET ?

What do you mean by chance causes?
QUITWILIL| STFERTLD eTETMITG) GTETE ?
Mention the assumptions of ANOVA.

ANOVA-ér oigioramhisamer gam.

Define analysis of covariances.

@aermUrl () UGUUTUe - eUenFuml.
PART B — (5 x 5 = 25 marks)

Answer any FIVE questions.

Q&Fbhenw

Define chi-square distribution and write the

conditions for the validity of y” -test.

MEHEUTES LTI UM Gm@_n.b M&HCUTES

Carganarsarer HlUbSMETEU 6T(LPFIS.
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14.

15.

16.

17.

18.

Find the MLE of estimate of the parameter u of
poisson distribution.

LM medr Lieuedlebr LIGHTLIeTEn 6L H &S o &&
Blapeumiitiy Ui e smems.

Discuss the method of minimum chi-square.

B&Amy wseuiss (papew afleurd).

In a random sample of 400 persons from a large
population 120 are formulas. Can it be said that
makes and females are in the ratio 5:3 in the
population? Use 1% l.o.s.

@ Quilu wewstsT@Hulldsr @mbg FweumuliL
wpeapuiler erH&suULL 400 pursefle 120 Guir
Quewmser 1%  Spliveredled <pehr wHMLD  Gluer
&g 5 : 3 eraw Cameamom eram <y lie| Cl&ws.

Explain clearly type I and type II errors.
W3 auems e LHMID @UeTLmbd elams e

@aihery alleul.

In 40 tosses of a coin, 24 heads were obtained.
Find 95% confidence limits for the proportion of
heads.

QR Brerwsems 40 pep &L UiubhbnGurg, 24
sanevser Hupli@demmer erafle, elldlgsssharear 95%
BLOY&EMS crebenaeanil sanTéd (hs.
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19.

20.

21.

22.

23.

Explain the structure for two-way classification.

@uarh  Gsmatensullen gl ulld @ aroms
Wflsgeler i elleufl.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

Derive ¢-distribution.

t- uTeuee H(Hell.

State and prove Cramer-Rao inequality.

Sy greu sweaildlew sad Hlmes.

State and prove Neyman-Pearson lemma.

Crwer wrgafler Capnsams smm Hlnie|s.

1000 students at college level were graded
according to their 1.Q and economic conditions of

their homes. Use y? test to find out whether there

1s any association between economic condition at

home and 1.Q.

Economic Conditions 1Q Total
High Low
Rich 460 140 600
Poor 240 160 400
Total 700 300 1000
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1000 soqrfl wrewersefer memardejs Smer
wHMID  Sefseienr @GhHbu CQumrmertsry  Hlene
eila‘pasezizrrl_@_lrrgj SrLILL(HeTergl. mseurss CaFrgamereanw
vwerl(Bss Ghbu Qurmeartsmy Hlenad @b Hmib
namanfles dp@sEn gCsaud Gsmiy e dmeg

orar Gamgenar Q&uis.

Qumrmerrgry Hlaneanto IQ Qrssibd

24.

2 WMHSG (HEMDHEUTEIG)

Rich 460 140 600
Poor 240 160 400
Total 700 300 1000

A test was given to five students taken at random
from the fifth standard of three schools of a town.

The individual scores are

School I

9 A~ o
NG Lo

9 7 6
School 11 7 4 5
SchoolIll 6 5 6

Carry out the analysis of variances.
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UM pepuiled TGS L 6Tl
uerertisafled BbSTLD U@L e (mHs) ohs)
wreeliseatenr WHUICLGTSET, WwraTeuT  eumilwms
QarH &Ll (HETerg.

verefl I 9 7 6 5 8
verefl 11 7 4 5 4 5
verefl I1I 6 5 6 7 4

ureudLly uienel Conblsmers.
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